
 

Serie W-1 

Wärmelehre 1 (Reversible Thermodynamik 

Lehrgebiet Physik

Fachbereich Grundlagenwissenschaften 

1. Lsg.: b)  3
2 0660 m,V =  

 
 
2. Lsg.:  m,h 51=∆  
 
 
3. Lsg.: 3

2 230 m,V =  

   3
3 250 m,V =  

   3
4 250 m,V =  

 
 
4.  Lsg.: mh 91=  
 
 
5.  Lsg.: 
 
6.  Lsg.: a) Pa,p

a

5
2 10912 ⋅=  

   b) Pa,p
b

5
2 10862 ⋅=  

 
 

7.  Lsg.: 
kgK

J,RS ⋅
= 9286  

 
8.  Lsg.: zu a) kmol,n 250=  

 
   zu b) kg

m,v
3

10=   310
m

kg=ρ  

 
 zu c) molk

m,Vm
3

20=  

   
 
9. Lsg.: a) kg,mD

3102451 −⋅=∆  

   b) kgVD
3102079 −⋅=∆  

 
10.  Lsg.: a) 3

2 93 cmV =  
  b) KT 4352 =  
  c) gm 15=  
  d)  

 
 



11. Lsg.: a)  
b) 34

2 109270 m,V −⋅=  
c) KT 4362 =  
d)  


